CORBEILLE Cévennes - Pied cylindrique = 60 litres

Ref. 208201

x1
Corps de corbeille 60L

ATE 208200.A

X1
Serrure nickelée

ACC 19086

X2

Vis FHC M5x16
ACC 22269

x2

Ecrou borgne frein M5

ACC 04985

x1
Adhesif blanc
ACC 01019

ul
u

x1

Pied corbeille
ATE 208201.C

,

x1 X1
Tige galva M8 x 180 Seau 60 L
ACC 20049 90001003.002

s N

ACC 05012
X8 ‘-'

g] Rondelle M 8
ACC 18145 \.@ X1
S~~~ Clef Metal

ACC 03342

Ecrou sécurité
ACC 05006

Tige de scellement

N ~ >3

i
b‘
N a >
>

AN
4 ~ >
IN bog
>
- I
Yo . X
N -
R S P S _
ARG N S id
N ~ ‘b S
R
R
AN ' N
N KA A SIS
LS b‘,v Joe
| V
g o
E N
S B
N
B - [N
> e IS >
IN - &~ 7 .
- = J
- ¥ & v -
IN
- o
s> S
IS - & AN [Te)
d - & - IN
- . [ES
> > N i
_ - &
INg > NN
N IN o -
& -

I 1
D 701 | Corbsille Cévennes - Réf. 208201 - Version 04 - Date : 11012008 -Page 11 INI® 292 L PROCITY [




